O|ZPFAA! (x+1)(2x—5) =02 ax’* + bx+c =02 = 13 o,
a, b, ¢ 1 g7

Da=-2,b=-3, c=-5 (@)azZ,b:—S,c:—S
®a=-2,b=3,¢c=5 @ a=2,b=3,¢c=5

®a=-2,b=3, c=-5

(x+1)(2x=5)=0
2% -3x-5=0
ca=2 b=-3, c=-5




OJAPYA A 2x% —ax+2=0, x> -3x+b =02 FF a7t 2

_1_?__
i, ab °] = F-5HH?

®-23 ©@-10 01 @no © 25

B ~
Folzl Aof x tiAl 2 & tHYsHH

8-2a+2=0, a=5

4-6+b=0, b=2

.ab=10




Il
o
1o
r
¢
b
=
RS

2 & off (p2-6p+5)(¢°—649+3)

® 12 @ 24 ® 36 @®)48 ® 50

p?—6p-3=00°4 p>-6p=3
¢*—6g-3=0°14¢*>-6g=3
. (PP =6p+5)(¢° —6g+3) = (3+5)(3+3) =48




